[ GL-050-1 GLF LeMans Lexan Body Set ]

Assembly Manual

' f transparent area

M1.5x3.5 PB M1.2x4 PB

x 10 x 14
Window Mask x1 x1
Ver00 Feb-2020 P1of 7

For M1.2x4 PB - Drill the hole 1.0mm prior to assembly.
For M1.5x3.5 PB — Drill the hole 1.3mm prior to assembly.

Dendile Side Tape
(Not inchuded)

[ **Assembly tips on lexan screwing ** ]

M1.2x4 PB =

' M1.5:35 P8

2
M1Sx15 P8 1
~\
6

- M1.5x3.5 PB

Double Side Tape
(Not included)

[ \
T |- 3 /.
q 1 P2 of 7

M1.2x4 PB



P3 of 7

[ GL-050-2 GLF LeMans Body Mount ]

Assembly Manual

—— “ )
*t ¢ f 1
M2x4TB  M2x4KB  M2x6KB  M1.2x4 PB
X4 X7 X2 X6
% [ = x4 X1 x1
R Clip in
\ ‘X :

P4 of 7



M1.2x4 PB
\ M2x4 TB

Y A -4

Y M1.2x4 PB
k v
I

AN
R Clip—>e”

7\\,
;;é\
; &
M2x4 KB Z >4

Optional
Cut around
15mm

i

i

M2x4 KB -

Optional
Cut around
7mm

PS5 of 7

Cut around 5mm

M2x6 KB






